


Year 3—Fractions 1 Answers Lesson 2

mrite the fraction shown below?
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éunt in tenths to complete the sequence.

3 4 5 & 7 2 3

4

5

10 10 10 10 10 10 10

[uy
o]l

10

10

[EN
BN

\_

'\

élsie says... Is she correct?
Elsie is not correct because 3/10 + 3/10 = 6/10.
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Year 3—Fractions 1 Answers Lesson 3

match the fraction to the correct decimal.

4 2
—_— 0.1 — 0.6
10 10

7 6
— 0.4 —_— 0.8
10 10

1 8
— 0.7 —_— 0.2

@e the image to complete the
fraction and decimal. 0.1 0.1 0.1
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éue or false? The arrow shows 0.3

The arrow is in the wrong place. The arrow is pointing at 0.4 as it is 0.1
place further along the number line.
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Year 3—Fractions 1 Answers Lesson 4

Gis is 1/5 of a bag of lemons. How many lemons are in the bag?
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ﬁill in the gaps to show the calculation this bar model represents.
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ﬁind 1/3 of 27 using the images of the place values to help you.

10 (1)U (1
10/ (1 1) (1) (1

N




